03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

©
IMADE

03. X Assembly Fans and the Z Probe

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 1 of 26



03. X Assembly Fans and the Z Probe

Step 1 — L Prep the Left Filament Fan

Step 2

M3 ‘nylock’
locking
nut

A

MSXS
M3x16

idlers

M3 oversized
washer

M3x10

M3x25

Y-assembly _

<
SR

=/

M3 serrated
washer

M3x25

M3x30

feeder

M3 plastite
screw

{ananann AR

{ ST

lf o

electronics

‘doghone’

stand-offs

M3x45 M3x60

VL spare
parts

e M3x15 plastite screw

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021

docs.imade3d.com/

Guide ID: 475 - Draft: 2019-10-25

Page 2 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 3

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 3 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 4

Step 5

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/ Page 4 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 6

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 5 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 7

Step 8

& As usual, don't over-tighten ;-)

These are specialty 'plastite’ screws that resist vibrations. Tightening too much will only damage your
parts.

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 6 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 9 — It's done!

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 7 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 10 — L Install the Left Filament Fan

Step 11

M3 ‘nylock’ M3 oversized M3 serrated M3 plastite
locking washer washer M2vw19 screw
i ' MZX1 2
nut e &\
( \
\
socket head screw
AL <r b M9 M2<10N
M3x8 * M3x25 M3x10 M3x12
[
12mm
M3x16 M3x25 M3x30 M3x45 1*
dle Y-assembl feede
SN spare
2 parts
(BN @& ™o
\3J)
it/

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/ Page 8 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 12

e M3x12

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 9 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 13

A Do NOT over-tighten.

e [here's absolutely no need to tighten the screw with all your force. You couldbreak your fan mount
or even pull out the brass threaded insert from the x carriage.

@ Ihe springiness of the part will provide some pressure to resist vibrations, butonly if you do not over-
tighten the screw.

o (M3x12)

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 10 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 14

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 11 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 15

& Leave the zip tie a bitloose. The wire should be able toslide.

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 12 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 16 — It's done!

Step 17 — L Prep the Z Probe

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/ Page 13 of 26



03. X Assembly Fans and the Z Probe

Step 18

M3 ‘nylock’
locking
nut

\

M3x8

M3x16

idlers

)

N Q)

.\__‘. J/

M3 oversized
washer _

M3x10

M3x25

Y-assembly _

=

§>\ )

M3 serrated
washer

M3x25

M3x30

feeder

ocker | M3 plastite
M2x12 a0TEH,

-
{ enananaan
{ ARANARAY

Gx -

M3x45 M3x60

electronics
‘doghone’

stand-offs L spare
parts

o Plastite screws

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021

docs.imade3d.com/

Guide ID: 475 - Draft: 2019-10-25

Page 14 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 19

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 15 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 20

Step 21

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/ Page 16 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 22

Step 23

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/ Page 17 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 24

Step 25
-
wlock’ 3 oversized M3 serrated
vasher washer
socker head screw
M3x10
[

10mm

<
™ o

e M3x10

& Jun 12, 2018 erratum alert: If you don't see any M3x10 in your kit, please use M3x12. They'll work just
fine.

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 18 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 26

Step 27

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/ Page 19 of 26



03. X Assembly Fans and the Z Probe

Step 28

Step 29

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/

Guide ID: 475 - Draft: 2019-10-25

Page 20 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 30

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 21 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 31 — It's done!

e Marvel at your skills of assemblage.

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021 docs.imade3d.com/ Page 22 of 26



03. X Assembly Fans and the Z Probe

Guide ID: 475 - Draft: 2019-10-25

Step 32 — L Install the Z Probe

V3 ‘nviock’ M3 oversized 13y 1
locking washer - Ed
N\ X
: [y \
N\ )
,@' ? socket head screw
I <l M3x10 M3x12
Lﬂ [
12mm

M3x45 9 .

X
o M3x12

This document was generated on 2021-12-23 11:39:53 PM (MST).
© 2021

docs.imade3d.com/

Page 23 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 34

e M3x12

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/ Page 24 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 36

e M3x12

Preferably, tighten in the 'down’ position.

& Only tighten this screw lightly.

Step 37 — It's done!

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/ Page 25 of 26



03. X Assembly Fans and the Z Probe Guide ID: 475 - Draft: 2019-10-25

Step 38 — p Video: JellyBOX 2 Build: X Mechanical Checkpoint #2

e » Video: JellyBOX 2 Build: X Mechanical
Checkpoint #2

This document was generated on 2021-12-23 11:39:53 PM (MST).

© 2021 docs.imade3d.com/ Page 26 of 26



	03. X Assembly Fans and the Z Probe
	Step 1 — ↳ Prep the Left Filament Fan
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9 — It's done!
	Step 10 — ↳ Install the Left Filament Fan
	Step 11
	Step 12
	Step 13
	Step 14
	Step 15
	Step 16 — It's done!
	Step 17 — ↳ Prep the Z Probe
	Step 18
	Step 19
	Step 20
	Step 21
	Step 22
	Step 23
	Step 24
	Step 25
	Step 26
	Step 27
	Step 28
	Step 29
	Step 30
	Step 31 — It's done!
	Step 32 — ↳ Install the Z Probe
	Step 33
	Step 34
	Step 35
	Step 36
	Step 37 — It's done!
	Step 38 — ▶ Video: JellyBOX 2 Build: X Mechanical Checkpoint #2


